
Spiel 1 Spiel 2 Gesamt

Spiel 095 10:42 B 1 Langeder Josef 54 + 46 = 100

B 2 Aichinger Engelbert 38 + 54 = 92

Spiel 096 10:50 B 3 Bauer Anton 47 + 43 = 90

B 4 Breitschuh Margareta 31 + 26 = 57

Spiel 097 10:56 B 3 Bauer Anton 41 + 51 = 92

B 1 Langeder Josef 51 + 33 = 84

Spiel 098 11:02 B 2 Aichinger Engelbert 44 + 51 = 95

B 4 Breitschuh Margareta 33 + 22 = 55

Spiel 099 11:09 B 4 Breitschuh Margareta 43 + 25 = 68

B 1 Langeder Josef 43 + 49 = 92

Spiel 100 11:16 B 2 Aichinger Engelbert 61 + 53 = 114

B 3 Bauer Anton 43 + 38 = 81


